CD TS 7| S8 E(K07-282)
4 072 142 174] ~ 072 15 174])

(_)I!-
H
-
O [—
>
2
m
ot
N
N
N
o
N
D
m

- 25 YFH LHETHA] 8], L A HAS -

> 27Ihg
O (25) HT17A) PUBYES FEUT FST0| 10k £0f, A2 10km O LIC L5142 HHTMO| Y2 wo
A2 S2|1 e 8]t RS
O (U2 FHIZIMO| e wot =2|T B|7t i1 2o, & hf 2U4EHS HojzisLIC
o AR/l 712 (O O S| IHZ2 00 0 Z42m)
(L&) 24/28 (L&) 30 (2E~Le) 20~40

ERC
O (AIE, TE0E) 95(4Y) wHE| LHYISY) M Afo] AIHO| 1~2km LiQ|@ B0, @ 5(14)Tt LIYQ5Y) HI7} L2l
oF FEDEZ & 1000ft Lol 2 SAEL T,

PN =

EH X YU =
Al7HE S-H|S Ol 2
szay MO EL MEESTHECTI | #eedssa | Good | meDuW | poon
" 14 159
8+ 17 18 19 20 21 2 23 00 01 02 03 04
"
4 M N N N N N
— Ay Ay Ay Ay Ay Ay
(kt)
01-19 T ey = = i ey = = e =
s =23 =23 =z =x3 =23 =23 =z = =z = = 6
S =, HE8 3,28 = 28 H HEs I, HiE8 3,28 = bE4 B HE4 H, HE4 B, HiE4 = bE4 o HE4
22035 E8160 8160 E8160 8160 E8160 8160 E8:120 E8120 E8:120 E8120 E8:120 E8120
.’Gﬂt(lgf B4 B2 24 B4 B4 Ea el BT 7 B27 247 BT
15
05 06 o7 08 09 10 1 12 13 14 15 16
2wz | Ay Ay Ay Ay Ay Ay Ay
(kt)
(01-19) — e = _— _— e =
ez %36 =36 =36 =36 %36 =36 £33 £33 £33 £33
== R I, HliE4 [N X Ui o, HiE 4 [N X H,HiE8 3, HliE:8 =, biZ:8 X
2324 Z3120 =3k 120 31120 231120 =120 Z4h120 Z4k120 Zg120 Zd160 k160 4k 160 53160
IGUST B47 EE ETH E47 B4 EE EEH E47 B4 EEH] ETH: BT
(kt)

XEZ NS SSE ST 200 TSt BHEFS 2l0ot, EHels ke (Of: ‘58 4= 50| 4kt = 2|0))

O HaAr
XEY7]S A BEO| CHE AEMSH Arg2 2E7]¢78 10Xl @@mokmagoknofAf Holeh 4= QLS L Tt




S A Lol ClCF NS S O > |_
P 17| Il- '|9|-|:|'| F H J
0FE:|XA|7I o | <L | AX <

rE
o
m
3Q
o
rir
4o
e
oh
0ot
N
0r

H
) E




